CAT Fuctbrer Sads 75 ExAD

X = difference i seotes . (oliffesence = *L\eor\spoa(“acﬁcao
asumre. X o be /\omabb dutabided (os gwen)
X ot o)

Stuclent A
LLD e O

6 D E F & H T Y K

G442 24
5% 42 6% A 68 22 W 85 AE 17

ey 2
Wt meo

42 49 50 63 38 42 3%

Pracheal &2
Aggufr@. Ho o ke dnee I P

R 31 =% 2\ 2~ =& q
et/

dug dei | dert

e, ecirnoke, o QQN\ (A'T”?")"% fﬂ:ﬂ -y = lé‘q {31 (,).‘\K}\ [y ’g\,w{’ n= (ﬁm&i“j Co 2 i,ég@r{:@fﬂm o b Loests
on e r%\\\ C@@;M\f@g . (se 'f‘umws As o @ %"irtjl@ gcwﬁl,@ t - (:er/\‘:“)

e el %mm /%-5\513 P | 62626
[N K et b4 C 0o / & )

-

X = mean dilference

e p . N
P (,@, f% />

vhex

‘a5 we effimote & w it Sh-y

%

2k P (b < —114ATEF)

9

2% 0 0226726

v 005

. L ) b (s ¢ '
Mo exrcience e riém,‘r' M /M‘”é so e conclude Tlhedt “‘H/"@ﬂ mean @@\W‘ﬁf enw. \n

scores 18 Zero , Whidk gcaggegb? that Ao Scores on e %QCJ
atrel @mgﬁ‘@\ popers ot c\milar,




X = AiRorences (i Sales Q&f’ﬂﬂ’- (wke.rc, AWGerence =

Aesume. X Ao be nom% obishnbuded
fed X o rd C/,A/ C,mz)

!‘f’!>“.;) 'n/lA:f/(ﬁ
‘ﬁl‘ ) /u?«f'C)
Aesupe Ho 4 b 4w

[i =57,
one teul test

olter ~ beﬁ:re)

ﬂ@'vr\ f L o p £ F & H I g K
bofoe 24 26 31 20 32 202 B3 2 81 22 218
Alker a4l mg 20 3k 40 B3 AN2 29

-

20 25

oty ~0 Ol 2 16 02 O] v 02 2 1t

l’j:j w&?@ al- " Alrer - Bele we. create o @\\@)ﬂe Canfe of Size az=l|

ve eshwate o Rom Sh-, = OV 90710473 ,ond we bore. swall n, so we pcr@NV\o\%l\/B\& ?ﬂlvr}(g/

b kert on tle diffeenes

e Q‘SC) Iﬂm:h) ’H/\ql” x =0 l%gtf’[;%l&;‘

Jete. K = vhean hesenie

os we eshwvole o vl S

B e

0854545 ~ 0O )
i

a07042%

Je=
L

=P (ko > 312467)

- o005 394
< OV05

Hence we hare en

1 gre;:x%tzy tlhon zemo

altey the co mp al qu.

donce o F{?@Cf"” W ad o Ao wean oiffesence W sales




X= ailforne m am,,mmzj . (wmere diffesence = crachshot - PostBre )

‘Aﬁ?ufr«? X s mwmtlij C%l&ffv\\ %:m{%“ @p@ s mfe%\“m A 8 C b € e & W T T
XN (g w) Cracdthl 42 94 90 26 B Q4 23 N 6 19
o

Fostfye €7 4| 8 €7 (€ 95 2% B4 B 7
byt p=o

C-F & & 4 -\ F - -"278 &
l»»!‘ ‘/A>©

Aeeuie Wy to ke dime

=6V

one taul fest

e mle,u\(a%'e@“(fﬂg“ %QW ) S\\fét@ Sample of Slze 10

we etherake & 4o be S, F /

" 319567\ | axt Hug e do & Q.\f@l@, gm;p@ b -test
we. Alte e 58 =4

g K e P*)(Q,(T"?/)

e

X N ( @{’ ‘:i; ) Lhaere. ?5 0 PReaVy é“@f\@l‘é?f\ﬁ? n ace ‘M’me&éj“

— e 5;2'3) o we esthnaoke 6 W L Spe)

—————

/jye'g-‘fvz;‘s‘(\ZJ /
\# lo

(»)v’ valve = P{ bq > ﬁ‘gf’;? )

= P(bg> 22768)
= 0004789
& 00b
Heae we bae edelonce Lo *‘r\‘ijﬁe? ¢ W el condlude dlat Ale Meon diFerene
" aecurawy 15 grectes Flaan zero, THIS suqgests st Croclashol sy

ore. e accutale,




Ao K= diffennce in scoms (where. NPfesence = third - Fourth )

fesume X 4o ke MW@ distbuted

o X N( n o) Conpetivor AR e bE
/
Thicel T I P L |

Hot po=0 (o diffonce in stores) ol o T2 L GE 16

H””, :/M:f O (ore mud e kefter flan
; S 7 Tef
e ofter) | oz T

Asune W) ic Ame

o= 57

oo Aail dert

ve calevlared ' 2 rouad = 4 ound’ Ao gre e ‘5\\@1@ canple of gize n=5

ve ectivake &= with 8, = 2/ 68844 L anl we hewe ewall ) 2 @fﬁﬁwm a siple
%%@%&wﬁw%

w2 alen @mw & =28
Ca XNN(OIO—Z>
n o 2
X~ (0, %)

[

X =0

A o we eshoale o with S,
ﬁ;u\ qﬂ Ay
£
28 -0
P-Val.m = 2Xx P(h,ﬁ \/zggmm ”g;;?i")
5

= 2% P (by > B2%2%)
= 2% @i 018212
o O OR0H23

@@.35
Denge  we bane cullicient emdonce. Ao (‘:@m%’" Hp and conclude Heat the meon
ne, ve.

AilGerence. i seates, 15, non-zer, felliep us thel A 3™ acel hlhmund seores

W?ﬁdWQﬁﬁhU~! '

i

(we woyjectute that tley o beller /lower Scoring e fleir 4 ourd )




X = difference 1n numes o warde tecolled  (here dilPerence = "Inr - Y24 Ar..)

asuwve X o ke womgl\lj dispwbaded

XN O o?) Shder P 6 C D EF & WIT K

‘ Ihe 14 a8 12 12 1 le 1619 &5
Mot pn= & Wi o 6 W 6 B 1o 12 1014 5 o
Hooon# 6

“ew" 4 3 4 6 5 7 465 38
We oscune Wy o ke dne

K =57

fuo Halled test

we coltedate ") iar - 2t Wﬁ;ﬁm gy\/c)lg sanplo. of ¢ize A=12

we etmete & fom Sa. = L HYEL ,W\&l as n\s QW“/ we ﬁﬁr&m S‘@l@ %Wé bobest
o 0lte beos & = 48

So X evpd( 5, 0%)

W ( 5 ‘%ﬁ; 3 vhare X = mean Ailorence

s k u PLL—— .
= Jert tfu a5 ve estvate & vl s, ve b
Vi
5\ b;\\
/ WY A o 4
S Fm\!&’.t/@.:b(?( é”f‘\ < aﬁf? '5 ) \\\
: s / e
T Al ‘
o

= Pk, < =119782)

025659

005

Y

bone we donot howe. evclonce Ao (@@g%" W
T guagests thak Hhe  mean Millerence is 5 words.
Pnd g0 Mo sy seve & choes Yok tle number of words

re_colleel olre s | hiour exceeds mt‘“t‘ﬁﬁaued afrer W&
&)W houre L)b e Meon JNANY wardg

n Ao

»




X= difRerence n tenpeature  (there oliferens. = sate live —aromd)
ot each Fenprohwie (Geouwd ocd Satdllite)

ale r\omul)t) cz“ﬁ’%v%m’r”e,dl e ean
asune ol Helt dilfesonce or

ako r\@mabbj ohishwlnbec Qe 2 2 4 &5 6 1 2 9 qo |

“ . ) . i . B ‘“’7'2
Gowd A6 (12 M2 TG 602 b 1l ld dS ok
&0 X o N (1 )
/

Shelle 41 106 126 4op b0 (504 149 118 2T 5 E
Q=G 00\

Hot a=0

2.9 02 0.6 =00206 3§ 2904 O 02
H]: /‘J\?’Q

e asca thy is twe |

=5 7
ore +ail tast

v, caltelale ' Satellite - Grourel ' o gve o ga\@lc,, Qem};[@ of! V‘\Eﬁ“l for wilhich we eshinrate
o Yo ke S, T 127129 . etned go e ﬁwQﬂW o t-best aatlus @éﬂ@f‘@ m""?@g@

e alta bmey 5 o= O 4T2727

X =N <O/ c’?’i”) where A = Mean "%'fwr{xrqf\ue d‘l%f@MC@
s RO L

as we eshoate. o watl Sa-y

QL2 - O
~vae = ?( Eo > e rlel” >
P LI
H
= P(E,o» 253771 )
= 0014759
< 005

W . .
eNCe We bhaye eanclonce. 42 ."%«%" L!a ond mc\c(.wcéé Ae. mMean A\trerene 11
oACe Wwa  hare CANCENL. e Ww

| ' : ‘e means thatr Sexellire sensors
"’(&mPe,m)(\Ara 1S apeq\-e_r Aan 2efe el

ve higher read thaf Than 3""‘/‘"‘4 genselS.




